PERFORMANCE
ANTENNAS

&

17 YAGI ANTENNA MOUNTING BRACKET

C/W 900 CPE RADIO

TOWER (REF)

p—
—

CONNECTION SCREW

o

M8 - 1.25 X 50 MM FLANGE BOLT

5/16- 18 FLANGE NUT

5/16 U-BOLT

M8 - 1.25 FLANGE NUT

BOOM EXTENSION

17 YAGI ANTENNA

900 CPERADIO

RADIO CLIP

YAGI CLAMP

YAGI MOUNTING BRACKET

o—-wwnmm\loovo

=z

DESCRIPTION

Q
=2




